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6.  $20,000 is invested at an interest rate of 4.8%.  The investor has the option of having the interest 

compounded yearly or quarterly.  Determine the value of the account for both quarterly and annually 

compounded interest after each of the following. 

 

a. 1 year b.  5 years c.  10 years d.  20 years 

 

 

 

 

 

 

 

 

 

 

 

7. The mosquito population at Morse’s Pond was increasing at a rate of 150% each week.  If there were 

2000 mosquitos at the beginning of June, how many mosquitos could we expect there to be four weeks 

later? 


